asym_atll

asym_atrl

asym_atl2

asym_atr2

run6590 000 regression-asym at vs d

15000 - —
. n
- [ |

10000 [

soo0 |- W W
ﬂ_

-5000 [y
B II

10000 - g
B [ |
_||||||||||||||||||||||||||||||||||||||||||

=40 =30 =20 =10 0 10 20 30 40
diff_bpmXum

10000

5000

=5000

10000

IIII""I""I:I..""I""IIII

-40 =30 -20 -10 0 10 20 an 40
difi _bpm1Xum

diff_bpm1X

60000 —
40000

20000

20000

40000

40 -30 =20 10 0 10 20 30 40
diff_bpm1Xum

40000

20000

20000

0000 —

—10¢

400

200

—| 700

100

—12C

—10C

—12(

—100

200

15000 —
10000 —
5000 —
D_
_5000
10000 |-
- |
(Lo b by bonrv oo b b 0
=30 =20 =10 (1] 10 20 b
difi_bpm4aYium
diff bpmd4aY
| I
i 70
10000 —
B —{ 600
000 = = —s00
- [ |
T i
=
5000
: |
10000 — 100
I T T T AT TR E A e 0
=30 20 =10 (1] 10 20 b
difi_bpmda¥ium
diff bpm4aY
B [ |
40000
—{ 800
20000
1]
20000
200
40000 - -
I NN RN AN FE R NN 0
~30 20 =10 (1] 10 20 b
difi_bomdaYium
Bo000 —
i m — 100
40000 —
B —{ 800
20000
o [ |
20000
B [ |
|
40000 — [ |
||||||||||||||||||||||||

: . —0c
10000 —
i —{ant
5000 —
ﬂ__
5000 -
10000 — -
- [ |
Lo bvroa bvrn e bovva bovaa by bua g 0
=40 =30 =20 =10 1] 10 20 b A0
diff_bpm4aXium
diff bpmdeX
| I
B —80C
10000 —
- —{70(
5000 —e0c
ﬂ_
5000
10000 —
o b b bers b b b by 0
40 =30 =20 =10 1] 10 20 b A0
difi _bpmdeXsum
diff bpmd4eX
- - —12¢
B [ |
e0000 _— -
- : 100
40000
—(80C
20000
(1]
20000
40000 i EE [ | -
NN T T NN FE TR AN AN AN AT 0
40 =30 =20 =10 1] 10 20 b 40
diff_bpmdeX/um
difL
eo000
i & n —12¢
40000 — —{ 100
20000 - 80t
ﬂ_
20000
40000 —

bp"” 1

diff_bpmdeY

[ |

10000

5000 -
oF m

_5000 [

10000 [~
- [ |
_||||I|||||||||||||||||||||||
an -2 10 0 10 20

diff_bom4eY/um

d

F
i

10000 —

5000 —
- |
ﬂ_

~5000
= |

10000 —
i |
A T T T T T A O B O
=30 20 =10 0 10 20

diff_bpmday/um

diff_bpmdeY

IE-I}DUU_— - -
- ———
40000 —
20000
ﬂ_
20000
. W
— |
WUUU_ ..- -
T TN TN NN R
~30 20 =10 1] 10 20

diff_bpmdaY/um

diff_bpmdeY

60000 —
40000 —

20000

20000

40000 —

_30 _

~nostpan.png---

—( 800

— 700

— 700

—10C

—100

15000 —
10000 —
Lo0o —
D_
_5000 |
10000 |—
- |
obvrn bvrn bvrn v v b beaa | 0
=200 =150 =100 =50 1] 50 100 150
difi_bom12X/um
diff bpm12X
| L
10000 — e REH
5000 —eoc
D_
5000 —
10000 —
b e b b s b | 0
200 =10 =100 -&0 1] L) 100 150
diff_bpm12X¥/um
diff bpm12X
| —{400
IE-I]UUU_— EE
= —a&(
- man
40000 —
- —{ 300
20000 — —25I
= 200
D_
B 16(
20000 —
B 100
40000 — L
plovvr berrr bvvra bvvrs tvvra bv o traaa | 0

_200 -150 -100 -50 O 50 100 150
diff_bpm12X/um

diff_bpm12X

BO000 — —{35C
i -
- —{30r
40000 —
B —25I[
20000 —
i 200
D —
20000 —
40000 —
| | L1 11 | L1 11 | L1 11 | L1111 | L1111 I L 111 | L 111 | ﬂ

200 =150 =100 50 1] 50 100 150
diff_bpm12X/um



reg_asym_atll

reg_asym_atrl

reg_asym_atl2

reg_asym_atr2

10000
—80C
— 700

5000
—(60(

=5000

100
10000 - -
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II D
40 -30 -20 -10 O 10 20 30 40
diff_bpmXum
difL
10000 e
—700
5000 —g0r

=5000

10000

i [ |

IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II D

-40 =30 -20 -10 0 10 20 an 40

difi _bpm1Xum

diff_ bpmlX

- —80L
10000

i — 700
000 — —60L

=5000

n"n

u 101
o

prvrbrrrrbvvr berrr b bvren berrn brana b o
40 =30 =20 <10 1] 10 20 an 40
diff_bpm1Xum

10000

—80C

10000
— 700
— 600

5000

=5000

200

100
H}EIDEI

run6590 000 regres:

oression ‘reg

10000 — —{70C 10000 —
N n —{ 800
: —{ 600 : — 70
B000 Bo00
I o . —ls0c
- - B
B 401 B
o™ ol
. W - n
i 30( i
5000 5000
| 200 |
5 10C 5
10000 — I [ | 10000 _— -
Lo bvvva bvv o b bvvva bvv o b 0 AENISEEEE SRR REENENEENE RN AR ENE NEEE 0
=30 =20 =10 (1] 10 20 b =40 =30 =20 =10 1] 10 20 b A0
difi_bpm4aYium diff_bpm4aXium
dlf. f dlf. f
— 700 —80C
10000 10000
o —{70¢
B000 EL00 — 600
—{ 500
1] (1]
5000 — 5000
10000 10000
B | B [ |
Lo bvaa s b b by v bv o b 0 SENISEEEEEEENIREENENEENE RN AR ENE NEEE 0
=30 20 =10 (1] 10 20 b 40 =30 =20 =10 1] 10 20 b A0
difi_bpmda¥ium difi _bpmdeXsum
: [ | —{ 700 : —anr
10000 — 10000 —
i —60( i 0t
5000 —5nc 5000 —60C
o o
5000 5000 - ™
10000 — 10000 — . . - 100
Povvv bvvv v bvv v by e bvvra bvvra b 0 EENEEEERE AN RN NN NN NN RN NN EEEE 0
~30 20 =10 (1] 10 20 b 40 =30 =20 =10 1] 10 20 b 40
difi_bomdaYium diff_bpmdeX/um
diff bpmd4aY  diff
I
i . 700 i
10000 — 10000 —
B —60r B
B000 m —{ 500 Bo00
o o
5000 5000
'1[?|:I|:||:| — - 10000 —
||||||||||||||||| |||||||||||||

-20 =10

at vs

bpm- .COL

“nostpa

10000 —
5000
- W
o |
B |
=5000 —
» [ | u
10000 — -l [ |
T AT RN NN Rl N
=30 =20 =10 1] 10 20

diff_bom4eY/um

diff_bpmdeY

1{?000 —

5000

=5000 —

10000

=30 =20 =10 1] 10 20
diff_bpmday/um

d

E

i m
10000 -
5000 —
ﬂ_
- W
=5000
10000 —
: = .
I T N T N A A A O A
~30 20 =10 1] 10 20

diff_bpmdaY/um

diff_bpmdeY

10000 —

5000 —
i |
B |

=5000 —
_||||||||||||||||||||||||||||

-20 =10

n p n 2 dlll hﬁm4n3‘1"."urn

—{70C

— 700

— 700

—{70C

10000
I 1o
5000 — e,
D_
5000 —
i 200
10000
_||||||||||||||||||||||||||I|||||||||| ﬂ
200 -150 -100 -50 O 50 100 150
difi_bpm12X/um
diff_ bpm12X
| I
- 1o
10000
o
5000

=000

- 20(
10000

: [ ]

cloraa b v b bv s bv v b | 0

200 =10 =100 -&0 1] L) 100 150

diff_bpm12X¥/um

difL

i —1or
10000 —

I —80(
Lo0o —

B [ |

| =

D_

- [ |

i [ ]
5000 —
10000 —

: [ |

plovvr berrr bvvra bvvrs tvvra bv o traaa | 0

_200 -150 -100 -50 O 50 100 150
diff_bpm12X/um

dlthmeZL

H}EIEIU —

5000 —

=5000

10000 —

L b oo b e beaaa Lo | 0
200 -150 -100 <50 1] 50 100 150
diff_bpm12X/um



asym_atll

asym_atrl

asym_atl2

asym_atr2

run6590 000 re

diff bpm1X

e | ndf 26.16 / 31
p0 9982 +98/78
p1 56.95 + 1.58 {
2000 |- ’r H_\ | H )
i il
of | |
: h |
2000 |- H‘L
=400 _— ‘|
_Il||||||||||||||||||||||||||||||||||I|||||||
=4 =30 =20 =10 o 10 20 a0 40
diff_bpmi1X
4000
- ¥ | ndf 50.65 / 31
3000
- PO (0.06447 * 10.73901
2000 M
: | H p1 4342+ 172
1000 |- %hh |
nf— | {“’"\,\w ‘
1000 — | 1 W{W - }
=2000 E— l;
~3000 — |
=400 :—

40 -30 20 10 0 10 20 30 40

diff_ bpm1X

¥Z | ndf 60.52 / 31

p0 17911+ 33.94

p1 38.51+ 5.56

00 B | |t

[ ++Mﬂ L
i1 mwﬂ *‘

5000 :— } --
10000 :— |

40 -30 20 10 0 10 20 30 40

diff_ bpml1X

¥/ ndf 56.92 / 31
p0 34.46 + 30.00 o
p1 186 + 4.9 #HHM{
j |
=5000 f— - { th
10000 — _*M
15000 —

-40 <30 <20 -10

diff _ bpmdaY
¥Z [ ndf 37.87 /36

p0 8.994 £ 9.906

p1 57.75+1.71 f _
: H ﬁﬁ} _
b - }

-mnnf— H{\Hhh

-zﬂnnf— |

-:mnnf—

_:mnnf— i
:||IIII|IIIIIIIII|||||||||||||II|III
30 -20  -10 0O 10 20 30
¥e [ ndf ETDEISE
p0 -1.93+10.78 )
p1 34.41+1.85

#H,} -
P

°F W+++M

i *HH* f

_2000 *

-xmnn:—'

-ﬁann:—

_,B.|}[;|[:|+|||-||||||||||||||||||||||||||_|||||
30 -20 -10 0O 10 20 30
%2 / ndf 2?23!’35
p0  -4.254 + 32.401 H _

i

p1 4572 £+ 56 #i}{ H
oF ]

_mnng— hl{ht‘d

mt:unn:—_'{v

150005—

:mnnnf—
bl b b b ber b boag
30 -20 10 0O 10 20 30

diff bpmd4aY

¥Z [ ndf 26.17 /36
p0 12.75 + 28.94 h |
o1 4222+ 50 ﬂH}L J
of | ]

5000 F }

E Hﬁ#

10000 [~ k\

15tmnf—

E[:IDDEI;—

oression asvm at vs diff b

diff _bpmdeX
¥2 [ ndf 23.47 /33 |

pO 9.305 £ 9.836

Elu 62.78 +1.60 WM hw
o W

Floov b b v b bvea B leaaa |
40 =30 =20 =10 0 10 20 30 40

iff _bpmdeX

= 2000

=4000

|
[N
prmm—
—_—

91

4000

3000

2000

¥2 / ndf 42.9/33
p0 ~-2.081+ 10.729

-41.05£1.74

-

1000

0

i
|

_mDDT||||||||||||||||||||||||||||||||||||||||
40 =30 =20 =10 0 10 20 30 40

diff_bpmdeX

=1000

—_—

= 2000

=3000

¥2/ndf  26.02/33

p0 11.6 £ 33.8 |
p1 74.87 + 5.63

: |

“_ i Wﬂ{hMﬂM H -
oo |
10000 [

E|....|....|....|....|....|....|....|....|

40  -30 <20 10 1] 10 20 30 40

diff_bpmdeX

diff_bpmdeY

¥e | ndf 26.47 / 36
p0 71711+ 9.882
p1 78.37 £ 2.01 m
1000 ]l “ |_
of -
-mnnf—
-Eunnf—
-:mnnf—
-mnnf—
:IIII|IIII|IIII|IIII|IIII|IIII
-30 -20 -10 0 10 20

diff_bpmdeY

¥2/ndf  63.64/36
p0  -2.29+10.77
o1 48.35+2.18 M
T M }
=2000 — -
~4000 —
_—| I_I | | | I I | | L1 11 | L1 1 1 | L1 1 1 | L1 1 1

= 6000

diff_bpmdeY

=20 =10 1] 10 20

%2 / ndf 30.39/ 36
1
p0  -4.833 + 31.592 M I-
f
p1 614.1+ 6.5 gt b-
ol
i H
10000 |- Wﬁw
E[FUUU:— |‘
_||_|||||||||||||||||||||||||||
=30 =20 =10 0 10 20

diff_bpmdeY

¥e [ ndf 19.21/ 33 ¥e | ndf 30.47 /36
pO 2859 29.77 | p0 10.48 = 28.20 I '
p1 2232+ 5.0 ' p1 564.1+ 5.8 HW )
: H o
5000 1 Hﬁm i i
[ + N
Ny / : T }
=5000 f— H-}{F'} E H
- H %HH 10000 |- L{Jpw
10000 F | -
15000 f— I }
- 20000 -
EDDDD:I- :I||||||||||III|IIII|IIII|IIII
-0 10 0 10 20

pm-fit postpan.png

10000

5000

~5000

10000

[ - ¥2/ndf  2414/24
- 00 5.53+9.13
L - w{ p1 -42.89+0.42
I ] } iﬂ-h}#

: }

R tw..}

. ”#u_ |

:|-| 1111 | 1111 | 1111 | 1111 | 11 11 | 1111 | | I_I | | 1
=200 =150 =100 <50 L] 50 100 150

°1

8000

6000

4000

2000

=2000

=4000

= 6000

~8000

60000

40000

20000

20000

40000

diff_bpml2X

40000

20000

20000

40000

iff bpml12X

7=/ ndf

p1

18.38/ 24

p0 0.5158 £10.2713

-35.98 £ 0.47

m_
=

0 =150 <100

-50 0 50

%2 / ndf

100 150

30.51/ 24

p0  -3.494 + 11.433

B -1

& pl -338 £ 0.5
I -
I T,
B HJ{
NI T T ST SN E T e AN A T N
200 =180 =100 =50 1] 50 100 1580

- ¥e | ndf 25.18/ 24
_ - 00 16.21+11.36
I H"‘*th p1 -298.7+ 0.5
i ++“ﬂ+_

| +"‘ _

_I I 1111 | 1 111 | 1111 | 1 111 | 1111 | 1111 | | I-I | | 1
200 =150 =100 =50 L] 50 100 150




reg_asym_atll

reg_asym_atrl

reg_asym_atl2

reg_asym_atr2

diff bpm1X

¥2 | ndf 26.49 / 31
po 7872 +9.011

p1 0.3393 + 1.4400

T
3 a1

-40 30 20 -10 0 10 20 30 40

diff_bpm1X

%2 { ndf 47.4 ( 31

p0 -1.389 = 10.164

p1 0.6479 = 1.6175

'H.?L.IL.I:— ‘m

;] il |
—HI?DDE— | -
-:mnnf— }
-:mnnf— *_
—4000 E‘.|....|....|....|....|....|....|....|....|..

40 -30 20 10 0 10 20 30 40

diff_ bpm1X

¥2 / ndf 25.49 /31

p0 -7.182 + 10.563

p1 1.06 £ 1.68

1000

ey

=1000

=2000

40 -30 20 10 0 10 20 30 40

diff_bpm1X

3000
2000

1000

1=/ ndf 2913/ 31
po 13.04 £9.98

p1 -0.1014 £ 1.5985

1]

Wﬁw el |

=1000

=2000

R —

=3000

=4000

=5000 [ -

run6590 000 regress

2ressmn ‘reg

=

diff_bpmdaY

3000 - %2 / ndf 39.97 / 36
2000 E_ i p0 9.534 + §.998
1000 E_ _ { p1 -0.119 + 1.557
of |1 HHHW%HW iw -
- i
~1000
-2000 f— )
~3000 f—
~4000 f—
:I | 1111 | 1111 I 1111 | 1111 | 1111 | | I_I | | 1 11
-30  -20 <10 0 10 20 30

:
%

=2000

=4000

6000

8000

"-"1

3000

2000

1000

=1000

= 2000

=3000

=4000

~5000

%2 I ndf 34.72 /36
{ p0 ~3.113 £ 10.155
~0.2606 + 1.7510

pi
—

|

-||IIII|IIII|IIII|IIII|IIII|IIII|III

=30 =20 =10 0 10 20 30

iff bpmdaY

x2 / ndf 35.53/ 36
p0 -8.91 £ 10.56

-1.096 £ 1.818

WW"“"” o i

'%

b Lo bbb b beaaa by

-30 =20 =10 0 10 20 a0

diff_bpmdaY

%2 [ ndf 31.07 /36
po 11.13 £ 9.99
p1 0.4186 = 1.7148 _
L '
uE— | | NHWM}HM _
= 1000 :— { -
- 2000 E— -
=3000 E—
=4000 E—
E T

al

Vs diff bpm-fit postoan.

diff _bpmdeX
¥ | ndf 21.99/33

pO 7541+ 8992

p1 0.05204 + 1.45872

F [
_mnng— } H]L
_WDD;,,,“.HMI""""""l"”llmllml

-40 <30 <20 -10 1] 10 20 30 40

diff_bpmdeX

w2/ ndf 45.35 / 33
po ~3.709 + 10.144

pi 0.5539 + 1.6372

= I IR
_mD:%: JHHH}H{PLM%‘}#J} | }

40  -30 <20 10 1] 10 20 30 40

diff_bpmdeX

%2/ ndf 30.56 / 33

p0 -8.156 + 10.546

it
+
iy

40  -30 <20 10 1] 10 20 30 40

iff _ bpmdeX

°-.

3000 f— } 7= [ ndf 45.61 /33
2000 f— po 12.07 £9.97
1000 E— H‘{ -0.4704 £1.6229
: r
o [ WM’%WW |

-mnnf— | H
_zﬂnnf— _
~3000 — !
4000 — |

diff_bpmdeY

¥2 | ndf 2218/ 36
p0 8.245 + 9022
p1 0.4512 + 1.8361
1000 — l
S I
u: | H |_ )
- f l[
= 1000 —
~2000 | - 1
:IIII|IIII|IIII|IIII|IIII|IIII
=30 =20 =10 1] 10 20

diff_bpmdeY
- 2 { ndf 62.83 /36
2000 |
- k p0 ~3.269 + 10.168
1000 | -
F hHl " «| p1 ~0.6251+ 2.0582
1000 — ‘}
- 2000
-3000 -
~4000 —
5000 |
_I L1 1 | | I I | | L1 11 | L1 1 1 | L1 1 1 | L1 1 1
30 20 -10 0 10 20
diff _bpmdeY
2000 %2/ ndf 30.39/ 36
1000 F PO -9.381% 10.585
oF } W*W p1 ~1.59 + 2.15
~1000 |
2000 | }
3000 | ' -
4000 |
~5000 —
TN T N R N
30 20 -10 0 10 20
diff _bpmdeY
- %2 ndf 42.04 /36
4000 |
- p0 9.538 + 10.011
3000 |
2000 E_ p1 -0.1992 £ 2.0263
mnnf— 1 |
of | H Hhrﬂ#wmwﬁﬁm 1
= w} f i
~1000 F [
2000 _
-3000
—I 11 1 | I | | 1 1 11 | I T | | 1 11 1 |-I 1 1 1
20 10 0 10 20

pnge

diff_bpm12X

¥2 | ndf 25.81/ 24
p0 5.27 + 9.01
p1 0.3011+ 0.4097 {
[ I 4 ”
-E[:IDU_—_
-JH}DU_—
_I|IIII|I_III|IIII|IIII|IIII|IIII|IIII|I

200 -150 -100 <50 0 50 100 150

°1

iff_bpm12X

m}nn;— _ %2/ nd 17.92/ 24
2000 | pO 0.185 + 10.174
WDUE— _ pl  —0.02698 + 0.46197
uf— ]‘WW?HF | ‘
-mnnf— . h
-Eﬂﬂﬂf—
-:mnnf—
—JH}DD:—
AT T N e

200 150 100 =50 0 50 100 150

diff_bpm12X

E.lr['ll:“ 2221724
po ~8.37 £ 10.56
p1 0.4303 + 0.4824
: iy J
: +
o h-}_}wﬁrﬁwﬁ#
-1000 : -
. t
~2000 -
3000 .
~4000 [
Co v bvvra b bvvar by aa b b aa b

200 -150 100 =50 0 50 100 150

iff_bpm12X

91

B000 ';.: ! ndf 2780724
B p0 1193+ 10.01
4000 —
- B p1 —0.01365 + 0.4549
2000 — H
or ﬁhﬂ “‘*"""“‘""*“”**MH\} *
~2000 —
4000 —
_IIIIII|IIII|IIII|IIII|IIII|IIII|IIII|I

-200 =150 =100 50 0 50 100 150



asym_atll

asym_atrl

asym_atl2

asym_atr2

run6590 000 reg

15000

10000

5000

=5000

10000

10000

5000

=5000

10000

60000

40000

20000

20000

40000

-40

60000

40000

20000

20000

40000

-30 <20 10

1]

10 20 30 40
diff_bpmXum

30 =20 10

o

10 20 an 40
difi _bpm1Xum

30 =20 10

1]

10 20 30 40
diff_bpm1Xum

-30 =20 -10

ressiomr-asvm at vs diff

15000 —

10000 —

2000 —

5000

10000 —

i I 1111 I 1111 | 1111 | 1 111 | 1111 | 1 111 |
30 -20 10 0 10 20 a0
diff_bpmda¥ium

10000 —

5000

=5000

10000 —

N AT FE RN AR AR RS R EE
=30 20 =10 0 10 20 30
diff_bpmda¥ium

60000 —

40000 —

20000 —

20000 —

40000 —

I I RN AN e R
~30 20 =10 (1] 10 20 b

diff_bpmda¥ium
ifL

60000 —

40000 —

20000 —

20000 —

40000 —
||||||

b

15000 —

10000 —

2000 —

5000 -

10000 —

1111 | 1111 I 1111 | 1111 | 1111 | 1111 | 1111 | 1111
40 -30 -20 -10 O 10 20 30 40
diff _bpmdeX/um

10000 —

5000

=5000 —

10000 |-

40 =30 =20 10 1] 10 20 a0 40

diff_bpmdaX/um
ii

60000 —

40000 —

20000 —

20000 —

40000 —

EENEEEERE AN RN NN NN NN RN NN EEEE
40 =30 =20 =10 1] 10 20 b 40

diff _bpmdeX/um
ifL

60000 —

40000 —

20000 —

Wt

20000 —

40000 —

m-séat’ 1

tpan

15000

10000

5000

=5000

10000

-30 20 10 0 10 20
diff_bom4eY/um

10000 —

5000

=5000

10000 —

=30 =20 =10 1] 10 20
diff_bpmday/um

iff_bpmde

40000 —

20000

20000 —

40000 —

-30 20 10 0 10 20
diff_bpmdaY/um

iff _bpmdeY

60000 —
40000 —

20000

20000

40000

15000 —

10000 —

2000 —

5000

10000 [~ B

_I | 1111 | 1111 | 1111 | 1 111 | 1 111 I 1 111 | 1 111 |
~200 -150 -100 -50 O 50 100 150
diff_bpm12X/um

10000 —

5000 —

=5000

- e
10000 — L Tl

Db b b by s b b g |
-200 =150 100 =50 0 50 100 150
diff_bpm12Xium

iff_bpm12X

60000 —

40000 —

20000 —

20000 —

40000 —

ol b b b bena beav s Lo |
200 =10 =100 =50 1] B0 100 150
difi_bom12X/um

iff_ bpml12X

60000 —

40000 —

20000 —

20000 —

40000 —

b b b b b b b |
200 -150 -100 <50 1] 50 100 150
diff_bpm12X/um




reg_asym_atll

reg_asym_atrl

reg_asym_atl2

reg_asym_atr

run6s590 0

10000

5000

=5000

10000

-40  -30 <20

10000 —

5000

=5000

10000

=10

1]

10 20 30 40
diff_bpmXum

-40 30 =20

10000

5000 —

=5000

10000

10

o

10 20 an 40
difi _bpm1Xum

-40  -30 <20

10000 —

5000

=5000

10000

00 reo

=10

1]

10 20 30 40
diff_bpm1Xum

=30 =20

A0

ressmn'" reg

10000

5000

=5000

10000 —

diff_bpmda¥ium

10000

5000

~5000

10000

diff_bpmda/um

10000 — e

2000

5000

10000

diff_bpmda¥ium

10000 LT e

5000

=5000

10000

af

v dil

hpm

it

10000

5000

=5000 —

10000 —

-40 -30 =20

10000 —

5000

5000 —

10000

=10

o

10

20 30 40
diff _bpmdeX/um

40  -30 =20

10000

2000 —

=5000 —

10000 —

T

o

10

20 30 40
diff_bpmdaX/um

40  -30 =20

=10

1]

10

20 30 40
diff _bpmdeX/um

]
| | —

10000 —

5000
ﬂ_

5000 —

10000 —
_|||||||||||||||||||||||||||||||||||||||
-40 =30 <20

-SCAa

t postpan.png

10000

5000

=5000

10000 —

-30 20 10 0 10 20
diff_bom4eY/um

10000 o

5000

=5000 —

10000

=30 =20 =10 1] 10 20
diff_bpmday/um

10000 |

5000 —

=5000 —

10000 —

-30 20 10 0 10 20
diff_bpmdaY/um

10000 —

5000

=5000

10000

diff_bpmdaey/um

10000 —

5000 —

=5000

10000 —

| 1111 | 1111 | 1111 | 1 111 | 1 I 1 111 | 1 111 |
~200 -150 -100 -50 O 50 100 150
diff_bpm12X/um

10000 —

5000 —

5000 —

10000 —

Loy lova s by leavaa Loy laiaaal
-200 =150 100 =50 0 50 100 150
diff_bpm12Xium

10000

2000 —

5000 —

10000 | ST

Lovov lvvvr bvraa b b RN EEEEN
200 =10 =100 =50 1] B0 100 150
difi_bom12X/um

10000 —

5000 —

=5000

10000 —

oo bvvvn v b 1 Lo bl
200 -150 -100 <50 1] 50 100 150
diff_bpm12X/um




